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Code No. : B02/216

M. COM.

Paper II

Time : Three Hours ]  [Maximum Marks : 80

uksV % izR;sd bdkbZ esa izR;sd iz'u dk Hkkx A ,oa B ^vfry?kq 

mÙkjh; iz'u* gSa] ftuds mÙkj ,d ;k nks okD;ksa esa nhft,A 

izR;sd iz'u ds Hkkx C ^y?kq mÙkjh; iz'u* o Hkkx D ^nh?kZ 

mÙkjh; iz'u* ds mÙkj funsZ'kkuqlkj 'kCn lhek esa fn;s tk,¡A

Note : Part A and B of each question in each unit consist 
of ‘very short answer type questions’ which are 
to be answered in one or two sentences. Part C 
‘Short answer type’ and D ‘Long answer type’ 
of each question should be answered within the 
word limit mentioned.

bdkbZ-I/uNIt-I

 1. (A) fun'kZu ls vkidk D;k vk'k; gS \ fun'kZu dh eq[; 

fof/k;ksa ds uke fyf[k,A 2

     P.t.O.
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   What do you mean by sampling ? Write 
the names of main sampling methods.

  (B) çkf;drk fl¼kar ds dksbZ pkj mi;ksx crkb;sA 2

   Write any four uses of probability theory.

  (C) uhps fn, x, leadksa ls lglaca/k xq.kkad Kkr 
dhft,µ

    Sx = 120, 

    Sy = 432,

    Sxy = 4992,

    Sx2 =  1392,

    Sy2 =  18252

    N = 12

   Coefficient of correlation :

    Sx = 120, 

    Sy = 432,

    Sxy = 4992,

    Sx2 =  1392,

    Sy2 =  18252

    N = 12

(word limit 200-250) 4
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vFkok/Or

   nSo fun'kZu dh O;k[;k dhft, ,oa blds xq.k&nks"k 

le>kb,A 

   Discuss Random sampling and explain its 
merits and demerits. 

  (D fuEu leadksa ls lglEca/k xq.kkad (dkyZ fi;lZu) 

vkSj mldk lEHkkO; foHkze Kkr dhft,µ

ewY; (`) ek¡x (000)
21 18
22 19
23 19
24 16
25 18
26 15
27 13
28 16
29 11
30 9

   Find out coeficient of correlation (Karl 
Pearson’s)  and its probable error from the 
following data :

    [ 3 ] P.t.O.
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Price (`) Demand (000)
21 18
22 19
23 19
24 16
25 18
26 15
27 13
28 16
29 11
30 9

(word limit 400-450) 12

vFkok/Or

   fLi;jeSu dksfV varj fof/k }kjk fuEufyf[kr vkadM+ksa 
ls lglEca/k xq.kkad Kkr dhft,µ

pk; dh dher (`) dkWQh dh dher (`)
75 120
88 130
95 150
70 115
60 110
80 140
81 142
50 100

    [ 4 ] 
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   Calculate correlation coefficient by 
spearman’s rank difference method :

Price of tea (`) Price of Coffee (`)
75 120
88 130
95 150
70 115
60 110
80 140
81 142
50 100

bdkbZ-II/uNIt-II

 2. (A) lkFkZdrk&ijh{k.k dh lhek,¡ crkb;sA 2

   Write the limitations of test of significance.

  (B) çlj.k fo'ys"k.k dh vUr£ufgr ekU;rkvksa dks 
crkb;sA 2

   Explain the underlying assumptions of the 
analysis of variance.

  (C) F-vuqikr D;k gS \ çlj.k fo'ys"k.k esa bldk D;k 
egRo gS \

   What is F-ratio ? What is the significance 
of this ratio in analysis of variance.

(word limit 200-250) 4
    [ 5 ] P.t.O.
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vFkok/Or

   23 ;qXeksa ds ,d U;kn'kZ dk lglEca/k xq.kkad 0·52 
gS rFkk nwljs 28 ;qXeksa ds ,d U;kn'kZ dk lglEcU/k 
xq.kkad 0·71 gSaA D;k çfrn'kZ lglEcU/k xq.kkad 
lkFkZd :i ls fHkUu gS \ 

   A sample of 23 pairs of values gives a 
correlation coefficient 0·52 and another 
of 28 pairs has a correlation coefficient 
of 0·71 Do the sample correlations differ 
significantly ?

  (D) 12 ikls ,d lkFk Qsadus ij 14  ç;ksxksa esa vad 1 
vkus dh vko`fÙk;k¡ fuEu çdkj gSaµ

   1, 3, 2, 4, 1, 9, 2, 4, 1, 0, 3, 2, 3, 1

   ;g ekurs gq, fd ikls vufeur gSa dkbZ oxZ (c2) 
dh x.kuk dhft, rFkk fn[kkb;s fd ;s lead  
fujkdj.kh; ifjdYiuk ds vuq:i gSaA

   The results of a dice throwing experiments 
are as follows :

   No. of aces appearing in each throw of 12 
dice : 

   1, 3, 2, 3, 1, 9, 2, 4, 1, 0, 3, 2, 3, 1

    [ 6 ]
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   Find c2  on the hypothesis that the dice 
were unbiased and show that the data are 
consistent with the hypothesis so far as c2 

is concerned. (word limit 400-450) 12

vFkok/Or

   60 firkvksa vkSj muds 100 iq=ksa ij fd, x, ckSf¼d 

ijh{k.k ls fuEu ifj.kke çkIr gq,µ

firkvksa ds ek/; 

çkIrkad

114 çeki fopyu 13

iq=ksa ds ek/; çkIrkad 110 çeki fopyu 11

   nksuksa esa lglEca/k xq.kkad + ·75 ekudj nksuksa ek/;ksa 

ds vUrj dh çeki =qfV fudkfy, vkSj ekywe dhft, 

fd D;k vUrj lkFkZd gSA

   In an intelligence test administered to 60 
fathers and their 100 children the follow-
ing results were obtained :

Fathers mean 
score

114 Standard 
deviation

13

Son’s mean score 110 Standard 
deviation

11

    [ 7 ] P.t.O.
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   Assuming that the coefficient of correla-
tion between them is + 0·75. Calculate the 
standard error of the two mean and state  
whether the difference is significant.

bdkbZ-III/uNIt-III

 3. (A) çrhixeu xq.kkadksa dh çeq[k fo'ks"krk,¡ fyf[k,A 2

   Point out the main properties of Regres-
sion coefficients. 

  (B) vk/kkj ifjorZu D;k gS \ bldh fofHkUu fof/k;k¡ 
crkb,A 2

   What is base shifting ? Dicuss its various 
methods.

  (C) lwpdkad dk vFkZ le>kb;sA fQ'kj dk lw= vkn'kZ 
lwpdkad D;ksa dgykrk gS \ Li"V dhft,A

   Explain Index number. Why Fisher’s 
formula is reffered to as an ideal index.

(word limit 200-250) 4

vFkok/Or

   fuEu vkadM+ksa ls nksuksa çrhixeu lehdj.k Kkr 
dhft,µ

    [ 8 ] 
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x : 1 2 3 4 5
y : 7 8 10 12 13

   Obtain the two lines of regression from 
the following data :

x : 1 2 3 4 5
y : 7 8 10 12 13

  (D) fdlh ijh{kk esa 450 ijh{kk£Fk;ksa ds lkaf[;dh vkSj 
vFkZ'kkL= ds çkIrkadksa ls lEcaf/kr lead uhps fn, 
x, gSaA çrhixeu dh nks js[kkvksa ds lehdj.k Kkr 
dhft, rFkk lkaf[;dh esa 50 vad çkIr djus okys 
ijh{kk£Fk;ksa ds vFkZ'kkL= esa vkSlr çkIrkad vuqekfur 
dhft,A

lkaf[;dh vFkZ'kkL=
vkSlr çkIrkad 40 48
çeki fopyu 12 16

   ek/;ksa ls fy, x, çkIrkadksa ds fopyuksa dh xq.kkvksa 
dk ;ksxµ 42075.

   The following data is based on 450 
students, are given for marks in statistics 
and Economics at a certain examination. 
Give the equations to the two lines of 
regressions and estimate the average 
marks in Economics of the candiate who 
obtained 50 marks in statistcs. 

    [ 9 ] P.t.O.
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Statistics Economics
Mean marks 40 48
Standard

deviation

12 16

Sum of the products of deviations of marks 

from their respective means = 42075.  

    (word limit 400-450) 12

vFkok/Or

   fuEu vk¡dM+ksa ls fQ'kj dk vkn'kZ funsZ'kkad cukb;s 

vkSj çekf.kr dhft, fd og le; O;qRØe gSµ 12

Item Price Quantity
2000 2004 2000 2004

A 10 28 5 4
B 12 36 10 16
C 8 42 12 8
D 50 80 30 15

   Prepare Fisher’s Ideal index number from 

the following data and verify that is it time 

reversal :

    [ 10 ]
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Item Price Quantity
2000 2004 2000 2004

A 10 28 5 4
B 12 36 10 16
C 8 42 12 8
D 50 80 30 15

bdkbZ-IV/uNIt-IV

 4. (A) ½.kkRed xq.k lEcU/k dks le>kb;sA 2
   Explain negative association of atributes. 

  (B) lkaf[;dh; xq.k fu;a=.k rduhd ls vki D;k le>rs 
gSa \ bldh çeq[k fo'ks"krk,¡ fyf[k,A 2

   What do you understand by statistical 
quality control ? Write its main features.

  (C) ^lEiw.kZ* vkSj ^vkaf'kd* xq.k lEcU/k esa Li"V :i ls 
varj crykb;sA

   Bring out clearly difference between ‘total’ 
and ‘Partial’ association. 

(word limit 200-250) 4

vFkok/Or

   ,d uxj dh dqy tula[;k 12,000 FkhA dqy iq#"k 
5,000 Fks ftuesa ls 4,000 vfookfgr FksA fookfgr 
fL=;ksa dh la[;k 8,000 FkhA D;k çnÙk leadksa esa 
dksbZ vlaxfr gS \

    [ 11 ] P.t.O.
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   The total population of a city was 12,000. 
The toal males were 5,000 out of which 
4,000 were unmarried. The number of 
married females were 8,000. Do you find 
any inconsistancy in the figures ?

  (D) vkdkj 5 ds 20 çfrn'kks± esa ek/; (X)rFkk foLrkj 

(R) vkxs fn, x, gSaA e/; vkSj foLrkj pkVZ [khafp, 

rFkk çfØ;k dh fLFkfr dh O;k[;k dhft,A

   [n = 5 ds fy, A2 = 0.58, D3 = 0 rFkk D4 = 
2.115]

çfrn'kZ la[;k X R
1 43 5
2 49 6
3 37 5
4 44 7
5 45 7
6 37 4
7 51 8
8 46 6
9 43 4

10 47 6

   vki fuEufyf[kr fu;a=.k pkVZ fLFkjkad dk ç;ksx 

dj ldrs gSaA
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   You are given the values of sample means   
(X)  and the ranges (R) for ten sample sizes 
of 5 each. Draw mean and range charts 
and comment on the state of control of the 
process.

Sample No. X R
1 43 5
2 49 6
3 37 5
4 44 7
5 45 7
6 37 4
7 51 8
8 46 6
9 43 4

10 47 6

   You may use the following control charts 
constants.

   [n = 5, A2 = 0.58, D3 = 0 and D4 = 2.115]

(word limit 400-450) 12

vFkok/Or

   1000 firkvksa ds v/;;u esa ;g ik;k x;k fd 
12·9% dkys jax dh vk¡[kksa okys gSa ftuesa ls dkys 

    [ 13 ] P.t.O.
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   jax dh vk¡[kksa okys iq=ksa ds firkvksa rFkk xSj dkys 

jax dh vk¡[kksa okys iq=ksa ds firkvksa dk vuqikr 1 : 
1·58 FkkA xSj dkyh vk¡[kksa okys firkvksa rFkk iq=ksa 

dh la[;k 782 FkhA firk rFkk iq=ksa dh vk¡[kksa ds jax 

esa xq.k lEcU/k xq.kkad Kkr dhft,] vko`fÙk;k¡ Kkr 

dhft,] ;g ekurs gq, fd iS=d xq.k lEcU/k ugha gSA

   A group of 1000 fathers was studied and 
it was found that 12·9% had dark eyes, 
among them the ratio of those having sons 
with dark eyes to those having sons with 
no dark eyes was 1 : 1·58. The number 
of cases where father and sons both did 
not have dark eyes were 782. Calculate 
a coefficient of association between 
darkness of eye colour in father and son. 
Give the frequency that would have been 
observed had there been completely no 
heredity.
     d      
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